
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

1:11:1

NOTE:  DNI = DO NOT INSTALL

1:11:1

C14 and R39 share pad

100 OHM RESISTOR AT THE DUT

100 OHM RESISTOR AT THE DUT

TI Confidential: NDA Restrictions

C15 and R40 share pad

C16 and R42 share pad

C17 and R41 share pad

JV SMITH

Engineer:

PCB Designer:

R PRENTICE

AINP+

AIN6AIN_P

AINN-

AIN

AINBYPASS

/AINN/AIN

BINP+

BIN6BIN_P

BINN-

/BINN/BIN

BINBYPASS

BIN

AI-

AI+

BI-

BI+

AINP SH2

AINN SH2

BINP SH2

BINN SH2

VCM1 SH6

VCM2 SH6

Title

Size Document Number Rev

Date: Sheet of

ANALOG IN A

ADS5402 EVM
B

1 616Aug12

Title

Size Document Number Rev

Date: Sheet of

ANALOG IN A

ADS5402 EVM
B

1 616Aug12

Title

Size Document Number Rev

Date: Sheet of

ANALOG IN A

ADS5402 EVM
B

1 616Aug12

R29

0

R25
100
DNI

T6

ETC1-1-13
3 4

1 6
2 5

R20
0
DNI

R30
0
DNI

T5

ETC1-1-13

34

16
25

C9
.1uF

R42
0
1/16W
5%

DNI

R13
100
DNI

R3
24.9

L4

0

R24

0

R2
24.9

R23
0
DNI

R19
0
DNI

C13
6.8pF
25V
DNI

C12
6.8pF
25V
DNI

C3
.1uF

SMA

END

J4
AIN

1
5234

C16

1uF

C10
.1uF

C15

1uF

L3

0

SMA

END

J5
BIN

1

5234

SMA

END

J6
/BIN

DNI 1

5234

T3

ETC1-1-13

34

16
25

C4
.1uF

R22

0

C14

1uF

L2

0

T4

ETC1-1-133 4

1 6
2 5

R39
0
1/16W
5%

DNI

R4
24.9

R40
0
1/16W
5%

DNI

L1

0

R1
24.9

R41
0
1/16W
5%

DNI

C17

1uF

SMA

END

J3
/AIN

DNI 1

5234

R21

0



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

12500 TI Boulevard. Dallas, Texas 75243

TI Confidential: NDA Restrictions

TRIG_INTRIGGERP
TRIGGERN

TRIGGER

BUFF3P3V

BUFF3P3V

DA2PSH3

DA3PSH3

DA4PSH3

DA5PSH3

CLKOUTAP SH3
CLKOUTAN SH3

DA6PSH3

DA7PSH3

DA8PSH3

DA9PSH3

DA10PSH3

DA11PSH3

DA2NSH3

DA3NSH3

DA4NSH3

DA5NSH3

DA6NSH3

DA7NSH3

DA8NSH3

DA9NSH3

DA10NSH3

DA11NSH3

OVRAP SH3
OVRAN SH3

DB0PSH3

OVRBP SH3
OVRBN SH3

DB1PSH3

DB2PSH3

DB3PSH3

DB4PSH3

DB5PSH3

DB0NSH3

DB1NSH3

DB2NSH3

DB3NSH3

DB4NSH3

DB5NSH3

DA0PSH3

DA1PSH3
DA0NSH3

DA1NSH3

DB6PSH3

DB7PSH3

DB8PSH3
DB9P SH3

DB10P SH3

DB11P SH3DB6NSH3

DB7NSH3

DB8NSH3
DB9N SH3

DB10N SH3

DB11N SH3

SYNCN SH5

CLKINN SH5

SYNCP SH5

CLKINP SH5

AINP SH1
AINN SH1

BINP SH1
BINN SH1

FPGA_TRIGGER SH3

Title

Size Document Number Rev

Date: Sheet of

ADC A

ADS5402 EVM
B

2 617Feb12

Title

Size Document Number Rev

Date: Sheet of

ADC A

ADS5402 EVM
B

2 617Feb12

Title

Size Document Number Rev

Date: Sheet of

ADC A

ADS5402 EVM
B

2 617Feb12

SJP1
TRIGGER

1
2

4
3

68 OHM @ 100MHz

FB5

SW2

SW RESET

TRIGGER
1
2

3
4

C49
1uF

R10
49.9

R8
5.49K

C11
.01uF

C2
.1uF

R9
100
DNI

U1B ADS5402

AIN_P
K14

AIN_N
L14

BIN_P
E14

BIN_N
D14

CLKINP
P14

CLKINN
P13

DATACLKP
H2

DATACLKN
H1

OVRAN
L5OVRAP
M5

DA0P
H4

DA0N
H3

DA1P
J2

DA1N
J1

DA2P
J4

DA2N
J3

DA3P
K2

DA3N
K1

DA4P
K4

DA4N
K3

DA5P
L2

DA5N
L1

DA6P
L4

DA6N
L3

DA7P
M2

DA7N
M1

DA8P
M4

DA8N
M3

DA9P
P1

DA9N
N1

DA10P
P2

DA10N
N2

DA11P
P3

DA11N
N3

DA12P
P4

DA12N
N4

DA13P
P5

DA13N
N5

DA14P
P6

DA14N
N6

DA15P
P7

DA15N
N7

D
B

0P
B

7

D
B

0N
A

7

D
B

1P
B

6

D
B

1N
A

6

D
B

2P
B

5

D
B

2N
A

5

D
B

3P
B

4

D
B

3N
A

4

D
B

4P
B

3

D
B

4N
A

3

D
B

5P
B

2

D
B

5N
A

2

D
B

6P
B

1

D
B

6N
A

1

D
B

7P
C

2

D
B

7N
C

1

D
B

8P
C

4

D
B

8N
C

3

D
B

9P
D

2

D
B

9N
D

1

D
B

10
P

D
4

D
B

10
N

D
3

D
B

11
P

E
2

D
B

11
N

E
1

D
B

12
P

E
4

D
B

12
N

E
3

D
B

13
P

F2

D
B

13
N

F1

D
B

14
P

F4

D
B

14
N

F3

D
B

15
P

G
4

D
B

15
N

G
3

DATACLKBP
G2

DATACLKBN
G1

OVRBP
D5

OVRBN
C5

SYNCN
N9SYNCP
P9

TRIGGERP
P10

TRIGGERN
N10

(SHUNT 1-3)

SMA

END

J9
TRIGGER
1

5234

R11
5.49K

U2

SN65LVDS100DGK

NC
1

VCC
8

VBB
4

GND
5

A
2

B
3Y

7

Z
6



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

TI Confidential: NDA Restrictions

DA5NSH2

DA0PSH2

DA1PSH2

DA2PSH2

DA3PSH2

DA4PSH2

DA5PSH2

DA0NSH2

DA1NSH2

DA2NSH2

DA3NSH2

DA4NSH2

SDIO SH5,6

SDENB SH5,6

SCLK SH5,6

DB6P SH2

DB7P SH2

DB8P SH2

DB9P SH2

DB10P SH2

DB11P SH2

DB6N SH2

DB7N SH2

DB8N SH2

DB9N SH2

DB10N SH2

DB11N SH2

DA6NSH2

OVRBPSH2
OVRBNSH2

DA7NSH2

DA8NSH2

DA9NSH2

DA10NSH2

DA11NSH2

DA6PSH2

DA7PSH2

CLKOUTANSH2

DA8PSH2

CLKOUTAPSH2

DA9PSH2

DA10PSH2

OVRANSH2
OVRAPSH2

DA11PSH2 DB0P SH2

DB1P SH2

DB2P SH2

DB3P SH2

DB4P SH2

DB5P SH2

DB0N SH2

DB1N SH2

DB2N SH2

DB3N SH2

DB4N SH2

DB5N SH2

FPGA_TRIGGER SH2

SDO SH5,6

Title

Size Document Number Rev

Date: Sheet of

I/F CONNECTOR A

ADS5402 EVM
B

3 603Feb12

Title

Size Document Number Rev

Date: Sheet of

I/F CONNECTOR A

ADS5402 EVM
B

3 603Feb12

Title

Size Document Number Rev

Date: Sheet of

I/F CONNECTOR A

ADS5402 EVM
B

3 603Feb12

J11A

QTH-060-01-L-D-A-RT1

GND
121

GND
123

GND
122

GND
124

2
2

4
4

6
6

8
8

10
10

12
12

14
14

16
16

18
18

20
20

22
22

24
24

26
26

28
28

30
30

32
32

34
34

36
36

38
38

40
40

1
1

3
3

5
5

7
7

9
9

11
11

13
13

15
15

17
17

19
19

21
21

23
23

25
25

27
27

29
29

31
31

33
33

35
35

37
37

39
39

41
41

42
42

43
43

44
44

45
45

46
46

47
47

48
48

49
49

50
50

51
51

52
52

53
53

54
54

55
55

56
56

57
57

58
58

59
59

60
60

R43

0
DNI

J11B

QTH-060-01-L-D-A-RT1

GND
125

GND
127

GND
126

GND
128

64
64

66
66

68
68

70
70

72
72

74
74

76
76

78
78

80
80

82
82

84
84

86
86

88
88

90
90

92
92

94
94

96
96

98
98

100
100

63
63

65
65

67
67

69
69

71
71

73
73

75
75

77
77

79
79

81
81

83
83

85
85

87
87

89
89

91
91

93
93

95
95

97
97

99
99

61
61

62
62

101
101

102
102

103
103

104
104

105
105

106
106

107
107

108
108

109
109

110
110

111
111

112
112

113
113

114
114

115
115

116
116

117
117

118
118

119
119

120
120

R38

0
DNI

R18

0
DNI

R12

0
DNI R45

0
DNI



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

U4 CONFIGURATION:
3.3V
    C40 = 15pF
    R26 = 51K
1.8V
     C40 = 33pF
     R26 = 14K    

5.5V MAX

U5 CONFIGURATION:
3.3V
    C18 = 15pF
    R33 = 51K
1.8V
     C18 = 33pF
     R33 = 14K    

5.5V MAX

U6 CONFIGURATION:
3.3V
    C22 = 15pF
    R47 = 51K
1.8V
     C22 = 33pF
     R47 = 14K    

5.5V MAX

TI Confidential: NDA Restrictions

3.3V_AVDD

DVDD

1.8V_AVDD

1.8V_ADC_LDO

3.3V_ADC_LDO

1.8V_ADC_LDO

5V_AUX

AVDDC
1.8V_ADC_LDO

5V_AUX 1.8V_ADC_LDO

5V_AUX 3.3V_ADC_LDO

BUFF3P3V5V_AUX

Title

Size Document Number Rev

Date: Sheet of

POWER SUPPLIES A

ADS5402 EVM
B

4 617Feb12

Title

Size Document Number Rev

Date: Sheet of

POWER SUPPLIES A

ADS5402 EVM
B

4 617Feb12

Title

Size Document Number Rev

Date: Sheet of

POWER SUPPLIES A

ADS5402 EVM
B

4 617Feb12

C18
15pF

JP12
3.3VA_IN

(SHUNT 1-2)

1

3
2

R44
10K

U4

TPS79601

EN
1

IN
2

GND
3

OUT
4

NR/FB
5

GND
6

R46
30.1K

68 OHM @ 100MHz

FB3

+
C51
33uF
16V

1
2

C20
4.7uF

PP3
1.8V_AVDD

1

C5
2.2uF

C40
33pF R26

14K

C24
10uF
10V

1
2

C53
.1uF

68 OHM @ 100MHz

FB2

PP1
3.3V_AVDD

1

C43
4.7uF

+ C58
33uF
16V

1
2

C8
2.2uF

+ C23
33uF
16V

1
2

U6

TPS79601

EN
1

IN
2

GND
3

OUT
4

NR/FB
5

GND
6

C47
.1uFR28

30.1K

68 OHM @ 100MHz

FB4

C59
.1uF

R47
51K

PP4
AVDDC

1

JP13
DVDD_IN

(SHUNT 1-2)

1

3

2

C25
.1uF

JP15
AVDDC_IN

(SHUNT 1-2)

1

3
2

C22
15pF

JP14
1.8VD_IN

(SHUNT 1-2)

1

3
2

C52
10uF
10V

1
2

C21
2.2uF

68 OHM @ 100MHz

FB6

PP2
DVDD

1

J7

RED
PWR

C57
10uF
10V

1
2

+
C45
33uF
16V

1
2

R27
30.1K

D1
GREEN
+5V

C46
10uF
10V

1
2

J8

BLK
GND

C19
4.7uF

PP5
BUFF3P3V

1

R33
51K

U5

TPS79601

EN
1

IN
2

GND
3

OUT
4

NR/FB
5

GND
6



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

MECHANICAL PARTS

TI Confidential: NDA Restrictions

CLOCKIN

CLKIN+

CLKIN-SYNC-

SYNCIN

SYNC+

5V_AUX

CLKINN SH2

CLKINP SH2

SYNCN SH2

SYNCP SH2

SDO SH3,6

SDENB SH3,6

SDIO SH3,6

SCLK SH3,6

Title

Size Document Number Rev

Date: Sheet of

CLOCK IN A

ADS5402 EVM
B

5 613Feb12

Title

Size Document Number Rev

Date: Sheet of

CLOCK IN A

ADS5402 EVM
B

5 613Feb12

Title

Size Document Number Rev

Date: Sheet of

CLOCK IN A

ADS5402 EVM
B

5 613Feb12

R17 0

DNI

PANHEAD SCREW 4-40 x 3/8"

JP5
5V

(SHUNT 1-2)

1

3
2

SMA

END

J2
SYNCIN

DNI 1

5234

TP9
SCLK

J10

USB_MINI_AB

USB

VBUS
1

D-
2

D+
3

ID
4

GND
5

GND1
6

GND2
7

GND3
8

GND4
9

TP8

BLK
GND

MT2

STANDOFF, ALUM, HEX, FEMALE, 4-40 X 1/2"

1

C96
.1uF

C69

.1uF

TP5

BLK
GND

C95
47pF

R32
100
DNI

TP10
SDIO

R16 0

T2

ADT4-1WT
DNI

3

2

1 6

5

4

C74

.1uF

T1

JTX-4-10T

3 6

5

1 4

R15 0

TP7

BLK
GND

TP13
SPARE1

R31
100

+ C86
4.7uF
20V

C66

.1uF
DNI

PANHEAD SCREW 4-40 x 3/8"

C70
.1uF

MT4

STANDOFF, ALUM, HEX, FEMALE, 4-40 X 1/2"

1

SMA

END

J1
CLKIN

1

5234

68 OHM @ 100MHz

FB1

MT1

STANDOFF, ALUM, HEX, FEMALE, 4-40 X 1/2"

1

ADS5402 EVM

TP6

BLK
GND

TP15
SPARE3

C72
.1uF
DNI

TP11
SDO

R35
100

C71

.1uF
DNI

C94
.1uF

PANHEAD SCREW 4-40 x 3/8"

TP14
SPARE2

PANHEAD SCREW 4-40 x 3/8"

R14 0

C67
.01uF

MT3

STANDOFF, ALUM, HEX, FEMALE, 4-40 X 1/2"

1

TP12
SDENB

C68
47pF

C65

.1uF

R36
100
DNI

C73

.1uF

U3

FT245RL

USBDM
16

USBDP
15

VCCIO
4

NC1
8

RESET
19

NC2
24

OSCI
27

OSCO
28

3V3OUT
17

AGND
25

GND
7

GND
18

GND
21

TEST
26

PWREN
12

WR
14

D1
5

D7
6

D5
9

D6
10

TXE
22

D4
2

D3
11

RXF
23

D0
1

RD
13

VCC
20

D2
3

R37
49.9
DNI



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

12500 TI Boulevard. Dallas, Texas 75243

TI Confidential: NDA Restrictions

ENABLE

TESTMODE

VREF

VCMOUT

SRESETB

AVDDC

1.8V_AVDD

DVDD

3.3V_AVDD

1.8V_AVDD

DVDDDVDD

3.3V_AVDD

DVDD

DVDD

1.8V_AVDD

DVDD

DVDD

DVDD

DVDD

AVDDC

3.3V_AVDD AVDDC

SDO SH3,5
SDIO SH3,5
SDENB SH3,5
SCLK SH3,5

VCM1 SH1

VCM2 SH1

Title

Size Document Number Rev

Date: Sheet of

ADC PWR A

ADS5402 EVM
B

6 603Feb12

Title

Size Document Number Rev

Date: Sheet of

ADC PWR A

ADS5402 EVM
B

6 603Feb12

Title

Size Document Number Rev

Date: Sheet of

ADC PWR A

ADS5402 EVM
B

6 603Feb12

C75
.01uF

C7
.1uF

R7
1K

C36
.01uF

C1
.01uF

C88
.1uF

C42
.01uF

C81
.01uF

C6
.1uF

C84
.1uF

SW1

SW RESET

RESET
1
2

3
4

C48
1uF

C28
.1uF

R5 0
DNI

C32
.1uF

TP4

BLU
TESTMODE

C37
.01uF

C54
.1uF

C79
.01uF

C38
.1uF

U1A ADS5402

DVDD
A8

DVDD
B8

DVDD
C8

DVDD
P8

DVDD
A9

VREF
A14

VCMOUT
B14

SDO
A10

SDIO
A11

SDENB
A13

SCLK
A12

ENABLE
B11

SRESETB
B12

TESTMODE
B13

DVDD
B9

AVDD1P8
D10

DVDD
D8

DVDD
L8

DVDD
M8

DVDD
N8

DVDD2
C7

DVDD2
C6

DVDD2
D7

DVDD2
D6

DVDD2
L7

DVDD2
L6

DVDD2
M7

DVDD2
M6

AVDD1P8
D11 AVDD1P8
E11 AVDD1P8
F11 AVDD1P8
G11 AVDD1P8
H11 AVDD1P8
J11 AVDD1P8
K11 AVDD1P8
L10 AVDD1P8
L11 AVDD1P8
N11 AVDD1P8
P11

AVDD3
D12AVDD3
E12AVDD3
F12AVDD3
G12AVDD3
H12AVDD3
J12AVDD3
K12AVDD3
L12AVDD3
N12AVDD3
P12

AVDDC
G14

AVDDC
H14

IOVDD
B10

C56
.1uF

C29
.1uF

U1C ADS5402

GND
C9

GND
C10

GND
C11

GND
C12

GND
C13

GND
C14

GND
D9

GND
D13

GND
E5

GND
E6

GND
E7

GND
E8

GND
E9

GND
E10

GND
E13

GND
F5

GND
F6

GND
F7

GND
F8

GND
F9

GND
F10

GND
F13

GND
F14

GND
N14

GND
N13

GND
M14

GND
M13

GND
M12

GND
M11

GND
M10

GND
M9

GND
L9

GND
L13

GND
K5

GND
K6

GND
K7

GND
K8

GND
K9

GND
K10

GND
K13

GND
G5

GND
G6

GND
G7

GND
G8

GND
G9

GND
G10

GND
G13

GND
H5

GND
H6

GND
H7

GND
H8

GND
H9

GND
H10

GND
H13

GND
J5GND
J6GND
J7GND
J8GND
J9GND
J10GND
J13GND
J14

C78
.01uF

JP1
ENABLE

(SHUNT 1-2)

1

3
2

C83
.1uF

C76
.01uF

C50
.1uF

TP3

BLU
VREF

C44
.01uF

C27
.1uF

C82
.01uF

TP2

BLU
VCMOUT

C26
.01uF

C80
.01uF

C30
.1uF

C64
.01uF

C34
.1uF

C31
.1uF

C63
.01uF

R6 0
DNI

C55
.1uF

C33
.1uF

C60
.1uF

C90
.1uF

C41
.01uF

C62
.01uF

C39
.01uF

C61
.01uF

C85
.1uF

C77
.01uF

C35
.01uF


